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a = 

r =  

u3 = 6 u4 = 12

a = 

r =  

u3 = 6 u4 = 9

1



a = 8/3 

r = 1.5 

u3 = 6 u4 = 12

a = 1.5 

r =  2

u2 = 6 u3 = 9

1



a = 

r =  

u5 = 6 u6 = -6

a =  

r = 

u5 = 6 u6 = 8

2



a = 243/128

r =  4/3

u5 = 6 u6 = -6

a = 6 

r = -1

u5 = 6 u6 = 8

2



n = 

a = 3 r = 2
un = 96

n = 

a = 0.25 r = 2
un = 64

3



n = 9 

a = 3 r = 2
un = 96

n = 6 

a = 0.25 r = 2
un = 64

3



r =

S4 =

u1 = 2 u3 = 4.5

r =

S4 =

u1 = 2 u3 = 4

5



r = 2

S4 = 6 + 6 2

u1 = 2 u3 = 4.5

r = 3/2

S4 = 16.25

u1 = 2 u3 = 4

5



S6 =

a = 16 r = ½

S6 =

a = 16 r = -½

4



S6 = 10.5

a = 16 r = ½

S6 = 31.5

a = 16 r = -½

4



r =

S5 =

or 

r =

S5 =

u3 = 5 u5 = 5

r =

S5 =

or 

r =

S5 =

u3 = 1 u5 = 0.01

6



r = 1/10

S5 = 111.11

or 

r = -1/10

S5 = 90.91

u3 = 5 u5 = 5

r = 1

S5 = 25 

or 

r = -1

S5 = 5

u3 = 1 u5 = 0.01

6



Seven = 

Sodd = 

u3 = 2 u5 = 2
r = -1

Seven = 

Sodd = 

u3 = -2 u5 = -2
r = -1

7



Seven = 0

Sodd = -2

u3 = 2 u5 = 2
r = -1

Seven = 0 

Sodd = 2

u3 = -2 u5 = -2
r = -1

7



a = 

r =  

u2 = 27 u4 = 3
S5 = 61

a = 

r =  

u2 = 27 u4 = 3
S5 = -61

8



a =  81

r =  1/3

u2 = 27 u4 = 3
S5 = 61

a = -81 

r = 1/3

u2 = -27 u4 = -3
S5 = -61

8



r =

S = 6 a = 4

r =

S = 
−10

9
a = 10

9



r =

S = 6 a = 4

r =

S = 
−10

9
a = 10

9



a = 

d = 

un = 

u10 =  

S = 4 a = 6

r =

S = 10 a = 
−10

9

10



a = 

d = 

un = 

u10 =  

S = 4 a = 6

r =

S = 10 a = 
−10

9

10



S = 

a = 64 r = ½ 

S = 

a = 64 r = 1/3 

11



S = 

a = 64 r = ½ 

S = 

a = 64 r = 1/3 

11



a = 

r = 
2

5
S = 

50

3

a = 

r = 
−2

5
S = 

−50

3

12



a = 

r = 
2

5
S = 

50

3

a = 

r = 
−2

5
S = 

−50

3

12


